
MATHS

BOOKS - TELUGU ACADEMY MATHS (TELUGU ENGLISH)

SOLVED MODEL PAPER-4

Section A

1. If  then find 


(i) .

Watch Video Solution

f = {(1, 2), (2, − 3), (3, − 1)

2 + f

2. If  then find 


(ii) .

f = {(1, 2), (2, − 3), (3, − 1)

√f

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YIeTKmN1Q0Od
https://dl.doubtnut.com/l/_BOKGzIDiqn61


Watch Video Solution

3. Find the domain of 

Watch Video Solution

√9 − x2

4. For any square matrix A, show that AA' is symmetric.

Watch Video Solution

5. Find the determinant of the matrix 

Watch Video Solution

⎡
⎢⎢
⎣

12 22 32

22 32 42

32 42 52

⎤
⎥
⎥
⎦

6. Find unit vector in the direction of vector ā = (2 ī + 3j̄ + k̄)

https://dl.doubtnut.com/l/_BOKGzIDiqn61
https://dl.doubtnut.com/l/_CI0iQvkG4bH1
https://dl.doubtnut.com/l/_jEwoUuNv1RpH
https://dl.doubtnut.com/l/_I1tkTP2RDxGe
https://dl.doubtnut.com/l/_0UebX4I6UlCO


Watch Video Solution

7. If vectors  are collinear vectors then

find .

Watch Video Solution

−3 ī + 4j̄ + λk̄, μī + 8j̄ + 6k̄

λ&μ

8. Find anle between planes

Watch Video Solution

r̄. (2 ī − j̄ + 2k̄) = 3, r̄. (3 ī + 6j̄ + k̄) = 4

9. If  then find the values of 

Watch Video Solution

0 < A < π/4 and cosA = 4/5,

sin 2A and cos 2A

https://dl.doubtnut.com/l/_0UebX4I6UlCO
https://dl.doubtnut.com/l/_ZxOnol4YryKQ
https://dl.doubtnut.com/l/_y84rOmca6wOp
https://dl.doubtnut.com/l/_fDiiBHsHi7vB
https://dl.doubtnut.com/l/_D7ps67h6V4lB


Section B

10. Find the maximum and minimum value of

Watch Video Solution

f(x) = 3 cos x + 4 sinx

11. P.T 

Watch Video Solution

cosh2
x + sinh2

x = cosh 2x

1. Examine whether the following system of equations are consistent

or inconsistent and if consistent, find the complete solution,

.

Watch Video Solution

x + y + z = 1, 2x + y + z = 2, x + 2y + 2z = 1

https://dl.doubtnut.com/l/_D7ps67h6V4lB
https://dl.doubtnut.com/l/_4UmfiFx0G0BW
https://dl.doubtnut.com/l/_1ts9gXBvE3WZ


2.  are non-coplanar vectors. Prove thate the following four

points are coplanar 

 

Watch Video Solution

ā, b̄, c̄

− ā + 4b̄ − 3c̄, 3ā + 2b̄ − 5c̄

−3ā + 8b̄ − 5c̄, − 3ā + 2b̄ + c̄

3. Find the volume of the tetrahedron, whose vertices are (1,2,1),

(3,2,5) , (2,-1,0) and (-1,0,1).

Watch Video Solution

4. Prove that

Watch Video Solution

(1 + cos )(1 + cos )(1 + cos )(1 + cos ) =
π

10

3π

10
7π
10

9π

10

1

16

https://dl.doubtnut.com/l/_pdXHHAeEn1QP
https://dl.doubtnut.com/l/_qGjTSbyPdalt
https://dl.doubtnut.com/l/_zDqKw6Ej7a9A
https://dl.doubtnut.com/l/_7tscqqW70Bz2


Section C

5. Solve 

Watch Video Solution

√3 sin θ − cos θ = √2

6. 

Watch Video Solution

cos − 1( ) + cos − 1( ) =
3

5

12

13

7. If  then show that 

Watch Video Solution

sin θ =
a

b + c
cos θ = cos( )

2√bc

b + c

A

2

1. If  is a bijective function then prove that 


(i) 

f :A → B

fof − 1 = IB

https://dl.doubtnut.com/l/_7tscqqW70Bz2
https://dl.doubtnut.com/l/_SMqUViG0xEQM
https://dl.doubtnut.com/l/_bzoTKwKjnG65
https://dl.doubtnut.com/l/_2O7vL3D2i9c7


Watch Video Solution

2. If  is a bijective function then prove that 


(ii) .

Watch Video Solution

f :A → B

f − 1of = IA

3. Using Mathematical Induction, prove that statement for all n 

N 

.

Watch Video Solution

∈

(1 + )(1 + )(1 + )....... . (1 + ) = (n + 1)23

1

5

4
7
9

2n + 1

n2

4. Show that 

Watch Video Solution

∣
∣
∣
∣
∣

a b c

a2 b2 c2

a2 b3 c3

∣
∣

∣

∣
∣

= abc(a − b)(b − c)(c − a)

https://dl.doubtnut.com/l/_2O7vL3D2i9c7
https://dl.doubtnut.com/l/_IdIbVfKQJgBs
https://dl.doubtnut.com/l/_HHrSSDp1qSYb
https://dl.doubtnut.com/l/_uI8C9z9Ir94K


5. Solve the following system of equations by using Cramer's rule. 

.

Watch Video Solution

x − y + 3z = 5, 4x + 2y − z = 0, x + 3y + z = 5

6. If

, then compute .

Watch Video Solution

ā = 2 ī + j̄ − 3k̄, b̄ = ī − 2j̄ + k̄, ¯̄̄C = − ī + j̄ − 4k̄, ¯̄D̄ = ī + j̄ + k̄

∣∣(ā × b̄) × (c̄ × d̄ )∣∣

7. IF A,B,C are angles of a triangle , Prove that

Watch Video Solution

cos 2A + cos 2B + cos 2C = − 4 cosA cosB cosC − 1

https://dl.doubtnut.com/l/_uI8C9z9Ir94K
https://dl.doubtnut.com/l/_oxtgSuVXese3
https://dl.doubtnut.com/l/_x7iqSbQJ8cqF
https://dl.doubtnut.com/l/_9p1tBH4U6yH4
https://dl.doubtnut.com/l/_LaCfGiuo3WZI


8. If 

Watch Video Solution

A + B + C = 180∘  then sin2 − sin2 + sin2 =
A

2
B

2
C

2

https://dl.doubtnut.com/l/_LaCfGiuo3WZI

